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Solve each problem.

1

3)

9)

13)

17

Multiplication (Vertical)

14
x 16
84
+ 140
224

3,968

7,936
+ 158,720

166,656

340

2.720
+ 3.400

6,120

9,960

x 94

39,840

+ 896,400

936,240

1,405

12,645
+ 42,150

54,795

2)

6)

10}

14)

18)

9,742

x 28

17,936

+ 194 840

272,776

316

x 34
2,064

+ 15,480
17,544

1,237

8.659
+12.370

21,029

11
x |0

95

600
600

e )

3)

7

1)

15)

19)

728
47

X

5,096
+29.120

34,216

28

112

+ 1,960

2,072

3. 184

x 95

15,920

e

286,560

302,480

406
96

®

2,436
36,540

o

38.976

95

380
+ 7,600

1,980

Unit 4, Station 2. Round 8,

Task 8
x 87 I 224
6,349
+ 72,560 2 272,776
78,909 N 34216
s 18,909
8) 55
x 15 5. 166,656
275
+55 6. 17,544
o . 2,072
8. 825
x 39 9, 6,120
GEd
+2.280 w, 21,029
el iy, 302,480
o 2,964
16) 4.403
* 72 13 936,240
8. 806
+308.210 14, 110
317.016
5. 38,976
6. 317,016
20) 516
* 20 7. 54,795
0
+ 10,320 g, 1,600
10,320
o, 1,980
ap. 10,320




